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QUESTION 1

Which of the following deployment scenarios will be most suitable for a customer that requires full telephony feature
transparency, requires high availability and has two sites with 3000 IP phones connected via a low-delay connection? 

A. Intermedia engine solution 

B. Multisite WAN with centralized call processing 

C. Multisite WAN with distributed call processing 

D. Clustering over the IP WAN 

Correct Answer: D 

 

QUESTION 2

Which feature in Cisco WebEx is the most important differentiator compared to other vendors in the collaboration
technology? 

A. Cisco WebEx is always installed on-premises 

B. With an account, everyone can join Cisco WebEx meetings. 

C. Web conferencing service is delivered over a proprietary network, which is optimized for security, performance, and
reliability. 

D. Cisco WebEx could be installed or collocated with Cisco Unified Communications Manager 

Correct Answer: C 

 

QUESTION 3

Which two options apply when you have a meeting with the telecommunications manager of an organization? (Choose
two.) 

A. The telecommunications manager is concerned about how collaboration affects network management 

B. The telecommunications manager is exclusively concerned with day-to-day issues, such as reporting, security,
reliability, training, and processes. 

C. The telecommunications manager could be resistant because the IT department gets authority over the new system. 

D. The telecommunications manager\\'s major concern is the cost of the solution 

E. The telecommunications manager may have a long-standing relationship with a PBX competitor 

Correct Answer: CE 
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QUESTION 4

Which two options are business requirements in the retail vertical market? (Choose two.) 

A. Supply chain agility 

B. Customer experience transformation 

C. Customer intimacy 

D. Increase employee productivity 

E. Collaborative customer experience 

Correct Answer: AD 

 

QUESTION 5

Which option provides sophisticated and distributed ACD, IVR, CTI, and agent and desktop services in a single server? 

A. Cisco Unified MeetingPlace 

B. Cisco Unified Customer Voice Portal 

C. Cisco Unified Contact Center Enterprise 

D. Cisco Unified Contact Center Express 

Correct Answer: D 
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